
Installation Instructions
Windshield Header Channel

Vehicle Application:
Jeep® Wrangler and Unlimited JL 2018-Current 

Part Number 51244

P1 - 51244  Rev. H 0524 Installation Instructions - Windshield Header Channel © 2021 Bestop, Inc.

Before you begin installing your new Header Windshield Channel, 
please read all the instructions thoroughly.

			 Do not rely in any way on the components of this 
product to protect against injury or death in the event of an accident. 
Never operate the vehicle in excess of manufacturer’s specifications.

Read and follow, precisely, all installation instructions provided when  
installing this product. Failure to do so may result in a poor fit and could 
place occupants of the vehicle in a potentially dangerous situation.

WEAR SEAT BELTS AT ALL TIMES

Installation TimeTools

Skill Level

Safety glasses should be worn at all 
times when installing this product.

WARNING

Installation Tips

1 - Easy

30 minutes
Safety

Glasses

Support
We’re here to help! Go to: 
https://www.bestop.com 
and click on Need Help?

https://www.bestop.com/video-library

8mm - 13mm 
Sockets

8mm - 13mm 
Wrenches

Ratchet
- OR -

T25 - T40 - T50 
Torx Drivers



Installation Instructions
Windshield Header Channel

Vehicle Application:
Jeep® Wrangler and Unlimited JL 2018-Current 

Part Number 51244

P2 - 51244  Rev. G  0521 Installation Instructions - Windshield Header Channel © 2021 Bestop, Inc.P1B - 54823   Rev. G  0416 Installation Instructions - Supertop NX Twill © 2016 Bestop, Inc.

Installation Instructions
Supertop NX Twill

Vehicle Application:
Jeep Wrangler Unlimited
2007-current
Part Number 54823



P3 - 51244  Rev. G 0521 © 2021 Bestop, Inc.

Installation Instructions
Windshield Header Channel

Vehicle Application:
Jeep® Wrangler and Unlimited JL 2018-Current 

Part Number 51244-01

Installation Instructions - Windshield Header Channel

Parts List
- Required parts for installation - Page number in Installation Guide

Sections 1 to 2      Header Channel, Latch Receiver Brackets, Fasteners

Header Channel
Part #423.45
Qty. 1

Pages 4 to 5 of Guide

M8 x 1.25 X 80mm 
Button Head 
Socket Cap 
Screw/Washer
Part #532.23
Qty. 2

M8 x 1.25 Nylon
Lock Nut
Part #434.12
Qty. 2

Bezel, Bolt Spacer 
Part #574.05
Qty. 2

M5 Nylon Lock Nut
Part #526.76
Qty. 8

Latch Receiver Bracket 
Part #596.45
Qty. 2

Channel Mounting Bracket
Driver Side
Part #596.49
Qty. 1

Channel Mounting Bracket
Passenger Side
Part #596.48
Qty. 1

M8x1.25x38
Button Head 
Socket Cap 
Screw/Washer
Part #532.17
Qty. 2

M5 x 0.8 x 16.0 
Flanged Button Head 
Socket Cap Screw
Part #533.39
Qty. 8



P4 - 51244  Rev. G  0521 © 2021 Bestop, Inc.

Page 4

Installation Instructions - Windshield Header Channel

HardwareStep 1 423.45 591.72 591.73 526.76 533.39

Header Channel
Part #423.45
Qty. 1

Channel Mounting Bracket
Driver Side
Part #596.49
Qty. 1

Channel Mounting Bracket
Passenger Side
Part #596.48
Qty. 1

M5 Nylon Lock Nut
Part #526.76
Qty. 8

M5 x 0.8 x 16.0 
Flanged Button Head 
Socket Cap Screw
Part #533.39
Qty. 8

Step 1

Attach the Channel Mounting Brackets #591.73 
(driver side) and #591.72 (passenger side) to 
the Header Channel #423.45, using four (4) 
M5x0.8x16.0 Flanged Button Head Socket Cap 
Screws #533.39, and four (4) M5 Nylon Lock Nuts 
#526.76 on each side.

Attach Mounting Brackets to Windshield Header ChannelSection 1

8mm Wrench

Tools

T25 Torx Driver



P5 - 51244  Rev. G  0521 © 2021 Bestop, Inc.

Page 5

Installation Instructions - Cable Bikini Top

Snap Bikini in Place Over Windshield Header ChannelSection 2
Step 1

Step 1

Slip your bikini top (Sold Separately) over the 
Header Channel and snap in place (8 snaps).

Lay the Header Channel and bikini on top of the 
Jeep windshield header, with the fabric draped 
across the Jeep hood.

Header Channel
Part #423.45
Qty. 1

Hardware

Bikini Top
Sold Separately

423.45



Vehicle Application:
Jeep® Wrangler and Unlimited JL 2018-Current 

Part Number 51244

P6 - 51244  Rev. G  0521 Installation Instructions - Windshield Header Channel © 2021 Bestop, Inc.

Warranty Information
Windshield Header Channel

For Bestop Warranty Information, Please go to; 
https://www.bestop.com/help/warranty-information/




